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Stoichiometry: Multi-Step Stoich Conversions: Quiz 4a (ADV) 
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Make sure to SHOW ALL WORK, INCLUDE UNITS and correct SIG FIGS!

For the following please include a BALANCED EQUATION

1. Sugar, C12H22O11, will dehydrate giving carbon and water.  What mass of carbon will be produced if 509 g of sugar is dehydrated?
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C12H22O11 →12C +11H2O



?g C = 509g C12H22O11 x
1mol
342.30g



x 12 mol C
1mol C12H22O11



x12.01g
1mol



= 214g C
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‘Stoichiometry: Multi-Step Stoich Conversions: Quiz 42 (ADV)

Make sure o SHOW ALL WORK, INCLUDE UNITS snd

5

Forhe i s e ALANCED EQUATION
1.Sugar, C,2H.;0,,, will dehydrate giving carbon
and water. What mass of carbon will be produced
i 509 g of sugar is dehydrated?



